
1

l

;

=

g

ljj/)f s/÷z'Ns÷b:t'/

1

_

l;kmfl/;  

1

=

gftf k|dfl)ft

s=g]kfnL ;h{dLg 150, l;kmfl/; 200.00

v=cu|]hL ;h{dLg 150 l;kmfl/; 700.00

2

=

^«fen *s"d]G^ l;kmfl/; 500.00

3

=

hUuf gfd;f/L l;kmfl/;

1= 0 s&\&f b]lv 10 ;Dd ;h{dLg ;lxt 350.00

2= 10 eGbf dfly 20 s&\&f

;Dd

500.00

3= aL; eGbf dfly k|lts&\&f 50.00

v_ #/jf^f] l;kmfl/;

k'j{klZrd nf]sdfu{sf] bfof jfof

300 ld^/ ;Dd

Joj;flos 1000.00, v]tLof]Uo 500.00

k'j{klZrd nf]sdfu{ bfof jfof

300 ld^/ EfGbf aflx/

300.00

sfnfsf^] /fhk'/ bfdf]b/

;*ssf] 300 ld^/;Dd

Joj;flos 1000.00 v]tLof]Uo500.00 cGo300.00

ndxL sf]O{nfaf; ;*s /fKtLk'n

b]lv lzs|xjfk'n;Dd bfof jfof

Aoj;flos1000 v]tL of]Uo500.00

ndxL sf]O{nfaf; ;*sv)*

lzs|xjf k'nb]lv Sofdk; ;Dd

Joj;flos 1500.00 v]tLof]Uo 700.00

ndxL sf]O{nfaf; ;*sv)*

ss|xjf hfd'gLaf;

Joj;flos 1000.00 v]tLof]Uo 500.00

sf]O{nfaf; ahf/ If]q 500.00

leqL zfvf sfnf]kq] bfof afof 500.00

leqL u|fe]n af^f] 300.00

leqL sRrL af^f] 200.00

v]tLof]Uo hldg 150.00

4

=

rf/ lsNnf k|dfl)ft l;kmfl/; Jo;flos 1000.00, cGo k|of]hgsf] 200.00

5

=

k]G;g sf*{ jf ;f] ;DaGwL cGo

l;kmfl/;

g]kfnL 1000.00

;fs{ d'n's 1500.00

cGo d'n's 3000.00

lg0f{o g+=( cf=j=@)&$÷&% sf] nflu s/, z'Ns tyf b:t'/x? b]xfo adf]lhd nfu' ug{ ufFpkflnsfdf k]z ug]{ lg0f{o
ul/of] .



2

6

=

xsjfnf ;+/If)f ;DaGwL

l;kmfl/;

250.00

7

=

;+# ;+:yf btf{ ;DaGwL l;kmfl/; 1000.00

8

=

lghL ljBfno btf{ / :t/ a[l$

- :t/ cg';f/_

lzz' ljsf; s]Gb|M 2000.00

cfwf/e'tM 7000.00

df=lj=M 12000.00

:gfts tx / ;f] eGbf dflyM 25000.00

lghL ljBfno sIff yk - :t/

cg';f/_

cfwf/e'tM 1500.00

df=lj=M 2500.00:gfts txdf ;+sfo yk

k|lt ;+sfo 5000.00

9

=

?v s^fg l;kmfl/;

s= vo/ k|lt So'=lkm^ 75.00, ;fn ? 10.00 k|lt So'= lkm^ #/

k|of]hg, / ? 30.00 Joj;flos k|of]hgsf nflu

v= s'sf& k|lt So'=lkm^ 10.00

Uf= cGosf& k|lt So'=lkm^ 15.00

1

0

=

c+u|]hL ?kfGt/ 500.00

1

1

=

j+zhsf] gful/stf ;DaGwL

l;kmfl/; kmf/fd ;lxt

150.00

1

2

=

c+lus[t gful/stf ;DaGwL

l;kmfl/;

200.00

1

3

=

gfd %'^sf] l;kmfl/; 100.00

1

4

=

s/r'Qmf k|df)F kq 200.00

1

5

=

;gfvt÷;h{dLg -gfd;f/]/ gftfk|dfl)ft afx]s_ 300.00

1

6

=

hGd, ljjfx, d[To' ;DaGwL

l;kmfl/;

50.00

1

7

=

cljjflxt k|dfl)ft g]kfnL 300.00, cu|hLdf 500.00

1

8

=

a;f]af; ;DaGwL l;kmfl/; 200.00

1

9

=

gfd, y/, hGd ldlt ;+zf]wg

l;kmfl/;

200.00



3

2

1

=

cldg z'Ns 2000.00

2

2

=

lj#"t h*fg ;DaGwL l;kmfl/;

:t/ cg';f/

s

_

1_ ;fdfGo ÷#/fo;L 100.00

  2_ Joj;foLs 500.00

v

_

3_ ly|km]h 2000.00

2

2

=

^]lnkmf]g h*fg, vfg]kfgL wf/f

h*fg ;DaGwL l;kmfl/;

qmd;==100.00, 100.00

2

3

=

gS;fkf; ;+;f]wg 300.00

gS;fkf; Dofb yk 300.00

gS;fkf; gfd;f/L 300.00

2

4

=

rfl/lqs l;kmfl/; -ljBfyL{nfO{

50 k|ltzt %'^ _

300.00

2

5

=

Knl^é cg'dlt Kf|lt s¶f 1000.00

2

6

=

ljB't, ^]lnkmf]g, vfg]kfgL

;DaGwL gfd;f/L l;kmfl/;

100.00

2

7

= pBf]u btf{ l;kmfl/;

s[lif &"nf] 1500.00 demf}nf 1000.00 / ;fgf] 500.00

u}/ s[lif &"nf] 10,000.00 demf}nf 5,000.00 / ;fgf] 2,500.00

2

8

=

Joj;fo btf{ l;kmfl/;

Eof^500.00 kfg 300.00

2

9

= %fqj[lQ ;DaGwL l;kmfl/;

lgMz'Ns

2

_

cGo l;kmfl/;  

1 lgj]bg b:t'/ 10.00

2

JolQmut #^gf btf{ -35 lbg

s^]sf_ 50.00

3

klt kTgLsf] ;DaGw ljR%]b

lgj]bg btf{ b:t'/ 50.00



4

5 ejg lgdf{)f b/vf:t kmf/fd 300.00

6

k/LIff ;DaGwL b/vf:t kmf/fd

z'Ns 50.00

7 kl/Iff b:t'/

;xfos :t/ 700.00

clws[t :t/ 1000.00

k|To]s ;dfj]zL ;d"xsf] nflu yk ?= 100.00

8 lgj]bg gSsn k|lt kfgf K|flt kfgf 5.00

9

#/kfn'jf s's'/ btf{ / gjLs/)F

b:t'/ 100.00

1

0 e?jf aGb's gjLs/)f b:t'/ lhNnf e/ 500.00, clw/fHo e/ 1000.00

1

1

#/ lgdf{)f gSzfsf] gSsn

b:t"/ Ps tnf 15.00, ;f]eGbf dfly k|lt tNnf 5.00 yk

1

2

ldnfkq b:t"/ k|lt kIf k|lt

a}&s 100.00

g

f

^

M

cfly{s ;xfotf, bLg b'MvL x?sf] xsdf uf=kf= cWoIf÷sfo{sf/L clws[tsf] tf]s cfb]z cg';f/

lgz'Ns ;]jf k|bfg ug{ ;lsG% .

3

_
;DktL d'NofÍg ;]jf z'Ns

hDdf /sdsf] 0=25 k|ltzt

-cWoogsf] k|of]hgsf] xsdf s'n /fhZjsf] 20 k|ltzt %'^

u/Lg]% ._

G

f

f

^

M

ufpkflnsfn] tTsfn lwtf] d'Nof+sg u/]sf] l;kmfl/;sf] k'gM gjLs/)f ug'{kbf{ h'g k|of]hgsf nflu

ul/Psf] xf] ;f]sf nflu nfUg] b:t'/sf] 20 k|ltzt /fhZj lnOg]% .

4

_

cfo;|f]t k|dfl)ft

hDdf /sdsf] 0=25 k|ltzt

-cWoogsf] k|of]hgsf] xsdf s'n /fhZjsf] 20 k|ltzt %'^

u/Lg]% ._

5

_ aflif{s ;jf/L s/ jflif{s s/ ;jf/L btf{ s/

1

=
a;, ^«s, nx/L 1500.00 2500.00

2 ef*fsf] sf/hLk 500.00 500.00

3 ef*Fsf] ^]Dkf] 100.00 200.00

4 ef*fsf] ldgLa; 600.00 700.00

5 lglh sf/ ^]Dkf] ldlgj; 500.00 500.00

6 :s'^/ df]^/;fOsn 100.00 200.00

7 &]nf uf*f l/S;f 25.00 100.00

8
^\ofS^/ &"nf]] 40 xif{kfj/

eGbf dfly
500.00 700.00

9 ^\ofS^/ ;fgf]] 40 xif{kfj/ 250.00 350.00
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eGbf ;fgf]

1

0

=

;kmf ^]Dkf] 50.00 150.00

1

1

=

uf]? uf*f 00.00 00.00

1

2

=

kfj/ ^]n/ 200.00 300.00

1

3

=

nf]*/, *f]h/ / PS;fe]^/

-Eofs"d_
2000.00 3000.00

5

_
;jf/L btf{ s/

1
^Fuf l/S;f ,c^f] l/S;f

-O{n]S^«Ls l/S;f_
00.00 00.00

7

_

k|fs[lts ;|f]t ;fwg pkof]u

s/
 

1

=

lu^L ('+uf jfn'jf ;d]t k|lt

^ofS^/ 300.00

2

=

lu^L ('+uf jfn'jf ;d]t k|lt

^s 800.00

3

=

sl^é ('+uf -#/sf] leQfdf

^f:g]_ k|lt ^«s 00.00, k|lt ^«fS^/ 00.00

4

= %kgL ;fbf (''+uf -k|lt ^«s_ k|lt ^«s 00.00, k|lt ^«fS^/ 00.00

5

= df^f]

&'nf] l^Kk/ k|lt l^k 300.00,

% rSs] ;Dd k|lt l^k 200.00,

^]S^/ k|lt l^k 100.00,

8

_
sfGhL xfp; b:t'/  

1

= ufO{ uf]? k|lt uf]^f k|lt lbg 50.00

2

= e}+;L /fuf k|lt uf]^f k|lt lbg 200.00

3

= #f]*f vRr* k|lt uf]^f k|lt lbg 100.00

4

= ;'u'+/ a+u'/ k|lt uf]^f k|lt lbg 200.00

5

= afv|f e]+*f k|lt uf]^f k|lt lbg 50.00

6

. cGo k|ltlbg k|ltuf]^f 100.00
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g

f

^

M

1

= ================================================================================================================== 

2

=

sfGhL xfp;df kz' ;dftL y'Gg] sd{rf/LnfO{ 25 / cGo JolQmnfO{ 35 k|ltzt k'/:sf/ :j?k

lbOg]% . 

3

=

sfGhL xfp;df y'g]sf] kz' ;f]xL lbg lng gcfPdf k|ltlbg 10 k|ltztsf b/n] yk hl/jfgf

nfUg]% / sfGhLxfp;df y'g]sf] kz' d/]df uf=kf= hjfkmb]xL x'g] %}g .

4

=

sfGhL xfp;df kz' ;dftL y'g]kl% ;f] kz'nfO{ x]/rfx ug]{ sd{rf/LnfO{ p&]sf] /sdsf] 15 k|ltzt

yk ;'ljwf lbOg]% . 

9

_ Plss[t ;DklQ s/sf] b//]^

1 ===

2 ====

3 ===

4 ===

5 ===

6 ===

7 ===

8 ===

9 ===

1

0 ===

1

1 ===

1

2 ===

1

3 ===

1

4 ===

1

5 ===

1

6 ===

1

7 ===

1

8 ===

1

9 ===

2 ===
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0

2

1 ===

2

2 ===

2

3 ===

2

4 ===

2

5 ===

2

6 ===

2

7 ==

2

8 ==

2

9 ==

3

0 ==

1

0

_ ;/;kmfO{ z'Ns -dfl;s_  

1

= k|lt #/ -1 tnfsf]_ 30.00

2

= #/sf] k|lt tnfsf] yk 10.00

3

ls/fgf, km]G;L, s:d]l^s, h:tf

Joj;fo k|lt k;n 50.00

4

=

xf]^n,gfO{, xl:k^n tyf

lSnlgs, t/sf/L k;n cflb

Joj;fox?sf] dfl;s k|lt

k;n 100.00

1

1

_ ;S;g ^\of+s  

1

=

;S;g ^\of+s uf=kf= If]qleq

k|To]s k^s÷k|lt ^\of+s/ 3500.00

1

2

_ lj!fkg s/

1

=

;fOgjf]*{, Unf]jf]*{, :^n

cflbdf 25 ju{k'm^ eGbf dfly 800.00

2 ;fOgjf]*{, Unf]jf]*{, :^n 500.00



8

= cflbdf 25 ju{km'^ ;Dd

3

= t'n Jofg/ Ps xKtfsf] nflu 50.00

4

=

t'n Jofg/ Ps xKtf eGbf

a(L k|ltlbg yk 10.00

1

3

_ dgf]/~hg s/  

1

= hfb', ;s{; / v]ntdf;f qmdzM k|ltlbg 200.00 ,1000.00/ 300.00

1

4

_ ;jf/L kfls{ª z'Ns

s

uf kf n] lgdf{)f u/sf]

If]qdf k|lt#)^F

1

= &'nf ;jf/L ;fwg 30.00

2

= ;fgf ;jf/L ;fwg 20.00

3

= df]^/;fO{sn , :s'^/ 10.00

v

_ uf=kf=n] tf]s]sf] IF]q

1

= &'nf ;jf/L ;fwg 15.00

2

= ;fgf ;jf/L ;fwg 10.00

3

= df]^/;fO{sn , :s'^/ 5.00

1

5

_ k^s] Joj;fo s/  

  jxfn la^f}/L jf Joj;fo s/sf] ;'rLdf k/]sf s/bftfafx]s gu/kflnsf If]qleq jf aflx/af^

;jf/L ;fwg jf dflg; cfkm}n] kf]sf jf emf]nfdf ;fdfg /fvL uf=kf= If]qleq #'dfP/ laqmL ug]{ jf

uf=kf= IF]qleq /x]sf] gbLdf ko{^sLo b[li^sf])Fn] /\ofkm\l^ª ug]{x?sf nflu lgDg cg';f/ s/ lng] .

1

= km]G;L÷v"b|f ;fdfg uf*Låf/f #'dfP/ a]Rg]x?sf nflu k|ltk^s 50.00

2

= vfBfGg ;fdfg uf*Låf/f #'dfP/ a]Rg]x?sf nflu k|lt k^s 20.00

3

= cfn'÷t/sf/L uf*Låf/f #'dfP/ a]Rg]x?sf nflu k|lt k^s 20.00

4

=

kf]sf÷emf]nfdf ;fdfg /fvL df]^/ ;fOsn÷dflg; cfkm}+n] a]Rg] k|lt

k^s 10.00

5

= gbLdf /\kml^é ug]{ ko{^sx?nfO{ k|lt JolQm k|lt k^s 20.00

6 /f+uf, e}+;L a+u"/,ufO{uf]?,;'+u'/ k|ltuf]^f 30.00



9

=

7

= v;L af]sf k|lt uf]^f 10.00

8

= xf+;, s's'/f / cGo kIfL k|lt uf]^f 00.00

g

f

^

*f]sf÷*fnfdf t/sf/L tyf kmnk"mn /fvL ahf/df #'dfP/ a]Rg] ls;fgx?sf] xsdf k^s] Joj;fo

s/ lnOg] %}g 

1

6

_ #/ axfn s/  

1

=

;+# ;+:yf, ;/sf/L sfof{no, uf]bfd ef*fdf lbg] Aofkf/ Aoj;fo

;d]t 2 k|ltztsf b/n]

2

= cGo k|of]hgsf] nflu 1 k|ltztsf b/n]

1

7

= Joj;fo s/sf] b/

l;=g+= ljj/)f b/

1 Jofkf/Ls a:t'

1=1=1 dlb/f k;n

1=1=1=1 /S;L,ljo/sf] l*l:^Ao"^;{ 5,000.00
1=1=1=2 /S;L,ljo/sf] yf]s k;n 3,000.00

1=1=1=3 /S;L,ljo/sf] v"b|f las|L k;n 1,500.00
1=1=2 ;"tL{hGo -w'|d|kfg_ k;n

1=1=2=1 r"/f]]^,lj*L,;'tL{ hGo kbfy{sf] l*n/ k;n 4,000.00
1=1=2=2 r"/f]]^,lj*L,;'tL{ hGo kbfy{sf] yf]s k;n 2,000.00

1=1=2=3 r"/f]]^,lj*L,;'tL{ hGo kbfy{sf] v'b|f k;n 1,000.00
1=1=3 xNsf k]o kbfy{ k;n

1=1=3=1 xNsf k]o kbfy{sf] l*n/ 3,000.00
1=1=3=2 xNsf k]o kbfy{sf] v"b|f k;n 1,000.00

1=1=4 ;'g,rf+bL k;n

1=1=4=1 ;"g,rf+bL,k;n >])fL s 00.00 >]l)f jlu{s/)F cg';f/
1=1=4=2 ;"g,rf+bL,k;n,>])fL,v 00.00

1=1=4=3 ;"g,rf+bL k;n 2000.00
1=1=5 cf}ifwL Joj;fo

1=1=5=1 cf}ifwL ;"k/ l*l:^ Jo'^;{ 4,000.00
1=1=5=2 cf}ifwL yf]s tyf l*l:^ Jo'^;{ 3,000.00

1=1=5=3 cf}ifwL v"b|f k;n-*S^/ePsf]_ 3,000.00

1=1=5=4 cf}ifwL v"b|f k;n -*fS^/ gePsf]_ 2,000.00

1=1=5=1 cfo"j]{lbs cf}ifwL k;n

!= jflif{s k]zf Joj;fo s/sf] b/
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1=1=5=1=1 xj{n pTkfbg tyf cfo"j]{lbs cf}ifwL yf]s

k;n

2,000.00

1=1=5=1=2 xj{n pTkfbg tyf cfo"j]{lbs cf}ifwL v"b|F 1,000.00
1=1=5=1=3 Pu|f]e]^ yf]s k;n 2,000.00

1=1=5=1=4 Pu|f]e]^ v"b|f k;n 1,000.00
1=1=6 :6]zg/Ltyfk":tsk;n

1=1=6=1 :^]zg/Ltyfk":ts l*l:^«Jo'^;{ tyfsfkLpBf]u 4,000.00
1=1=6=2 :^]zg/Ltyfk":tsyf]s ljqm]tf 2,500.00

1=1=6=3 :^]zg/Ltyfk":tsv"b|f 1500.00

1=1=6=4 d'b|)f;fdfu|Lvl/blas|L 1500.00
1=1=7 l8kf6 {d]G6n k;n

1=1=7=1 l*kf^{ d]G^n k;n / ;lkË;]G^/ >])fL s 4,000.00 >]l)f jlu{s/)F cg';f/
1=1=7=2 l*kf^\{ d]G^n k;n / ;lkË;]G^/ >])fL v 3,000.00

1=1=7=3 k'hf ;fdfu|L k;n 1,000.00

1=1=8 s:d]l6s k;n

1=1=8=1 s:d]l^s yf]s k;n 2,000.00
1=1=8=2 s:d]l^s v'b|f k;n 1,000.00
1.1.9 df]^/ kf^;{ ljqmL k;n

1.1.9.1 df]^/ kf^{; ;fdfg laqmL Uof/]h ;lxt 4,000.00
1=1=9=2 df]^/ kf^;{ ;fdfg laqmL 1,500.00
1=1=9=3 Uof/]h dfq 2500.00
1=1=9=4 df]^/ ;fO{sn js{;k 1000.00

1=1=9 af]*L ljN*;{ ;fdfg laqmL

1=1=9=1 af]*L ljN*;{ ;fdfg laqmL dd{t ;d]t 5000.00
1=1=9=2 af]*L ljN*;{ ;fdfg laqmL dfq 2000.00

af]*L ljN*;{ dfq 3000.00
1=1=9=3 :^Ls/ las|L k;n 1,000.00

1=1=10 n"la|s];g ;]S;g tkm{

1=1=9=10 n"la|s];g l*l:^Jo'^;{ 3,000.00
1=1=9=11 n"la|s];g yf]s k;n 2500.00

1=1=9=12 n"la|s];g v"b|f k;n 1500.00
1=1=11 KnfO{ tyf Unf;xfp;

1=1=11=1 KnfO{ tyf Unf; xfp; yf]s k;n 3,000.00
1=1=11=2 KnfO{ tyf Unf; xfp; v'b|f k;n 2,000.00

1=1=12 sk*f tyf km]G;L k;n

1=1=12=1 sk*f,km]G;L tyf Jofu yf]s k;n 4,000.00
1=1=12=2 sk*f,km]G;L tyf Jofu v"b|f k;n 1500.00

1=1=13 wfuf] ,^f+s ,km:g/ ,yf]s k;n

1=1=13=1 wfuf],^f+s,km:g/ yf]s k;n 1500.00
1=1=13=2 wfuf],^f+s,km:g/ v'b|f k;n 500.00

1=2=1 On]S^ f]lgs ljqmL k;n

1=2=1=1 df]jfOn ,sDkgL ;]Nkm pkzfvf,l*l:^«Jo'^;{ 4,000.00
1=2=1=2 On]S^ f]lgS;,yf]s k;n 3000.00
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1=2=1=3 On]S^ f]lgS; v'bf k;n 1500.00

1=2=1=4 cl*of],lel*of] Sof;]^ k;n 500.00
1=2=2 ljB't ;fdfu|L k;n

1=2=2=1 ljB't;fdfu|Lyf]sk;n 3,000.00
1=2=2=2 ljB't;fdfu|Lv"b|fk;n 2000.00

1=2=3 xf8{jo/÷d]lzg/L÷k]G6÷;]g]6/Ltyfdfa{nk;n

1=2=3=1 yf]sk;n 5,000.00
1=2=3=2 v"b|fk;n 3,000.00

1=2=4 k]6««f]lnodkbfy{

1=2=4=1 k]^ f]lnodkbfy{3kDkjf;f]eGbfdfly 10,000.00
1=2=4=2 k]^ f]lnodkbfy{2j^fkDkePsf] 8,000.00

1=2=4=3 k]^ f]lnodkbfy{1dfqkDkePsf] 6,000.00
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l;=g+= ljj/0f k|:tfljt

1=2=4=4 Uof+;l;ln)*/l*n/;jl*n/ 2,000.00

1.2.5 :^Ln,cfNd"lgodsf]ef*ftyfcGok;n

1=2=5=1 :^Ln,cfNd"lgodsf]yf]sk;n 3,500.00

1=2=5=2 :^Ln,cfNd"lgodsf]v'b|fk;n 2,000.00

1.2.6 kmlg{z;{k;n

1=2=6=1 km\nf]l/ªtyfkmlg{z;{yf]sk;n 3,000.00

1=2=6=2 km\nf]l/ªtyfkmlg{z;{v'b|fk;n 2,000.00

1=2=7 ;jf/L;fwgPh]G;Ltyfyf]sljqmLk;n

1=2=7=1 a;,6«s,6«ofS6/lhk,sf/sf]l8n/ 15,000.00

1=2=7=2 df]6/;fOsnl8n/ 5,000.00

1=2=7=4 On]lS6«s;fOsnl8n/ 1,500.00

cGo ;fOsn 1000.00

1=2=7=5 l/slG8;gxfp; 3,000.00

1=2=8 yf]styfPh]G;L

1=2=8=1 6fo/l8n/ 3,000.00

6fo/ ljqm]t 2000.00

1=2=8=2 klDkË;]6,h]g]/6/l8n/ 3,000.00

klDkË;]6,h]g]/6/ ljqm]tf 2000.00

1=2=8=3 ljljwljifosf;fdfg;Knfo;{tyfPh]G;Lx? 2,500.00

1=3= b}lgspkef]usfa:t"

1=3=1 vfBfGgtyfls/fgfk;n

1=3=1=1 vfBfg;Knfo;{ 2,000.00

1=3=1=2 cfn",Kofh,n;"g,cb'jfyf]s 1,500.00

1=3=1=3 uNnfyf]sk;n 2,500.00

1=3=1=4 vfBfg, tyf ls/fgfyf]sk;n 1,000.00

1=3=1=5 vfBfg, tyf ls/fgfv"b|fk;n 500.00

1=3=1=6 leqL;8sdf/x]sf;fgfls/fgfk;n 00

1=3=1=7 VffBfGg;fdfu|LKofs]lhª 500.00

1=3=2 kmnkm"nk;n

1=3=2=1 kmnkm"nyf]sk;n 2,500.00

1=3=2=2 kmnkm"nv'b|f 1,000.00

1=3=3 t/sf/Lk;n

1=3=3=1 t/sf/Lyf]sk;n 2,000.00

1=3=3=2 t/sf/Lv'b|fk;n 500.00

1=3=4 sk8fk;n

1=3=4=1 sk8fyf]sk;n 3,000.00

1=3=4=2 sk8fv"b|fk;n 2000.00

2 laz]if1k/fdz{tyfcGoAoj;flos;]jf

2.1 lrlsT;s
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l;=g+= ljj/0f b/
2=1=1 lghL;]jf;+rfngug]{sG;N6]068fS6/ 2,000.00

2=1=2 lghL;]jf;+rfngug]{d]l8snclkm;/ 1,500.00

2=1=3 sla/fh 1,500.00

2=3 sG;N6\ofG6;]jf

2=3=1 OlGhlgol/ªk/fdz{;]jfkmd{ 3000.00

2=4 sfg"gJoj;foL

2=4=1 nkmd{tyfsfg"gk/fdz{;]jf 1,500.00

2=5 n]vfk/LIf0fJoj;fotkm{

2=5=1 n]vfk/LIf0f-l;=P=_ 3,000.00

2=5=2 n]vfk/LIf0fcGo 1,000.00

2.6 bGtlrlsT;f;]jf

2.6.1 8]G6nxf]d;]jf 2,000.00

2.6.2 bGtlrlsT;f;]jf 1,000.00

2.7 cg";Gwfgstf{tyf;]jfk/fdz{bftf

2.7.1 cg';Gwfgstf{ 1,500.00

2.8 sDKo'6/Pgfln:6tyfk|f]u|fd/ 1,500.00

2.9 ljdfPh]G6 1,000.00

2.10 ;e]{o/ 1,500.00

2.11 gf]6/LklJnscg"jfbs 1,500.00

2.12 kz'lrlsT;s 1,500.00

2.13 z]o/bnfn 3,000.00

2.14 9'jfgLsDkgLtyf6«f|G;kf]6{Aoj;fo 2,000.00

2.15 ;+yfutk]G6/ 3000.00

2.16 l/on:6]6Joj;fo 10,000.00

3 lgdf{0fAoj;fo

3=1=1 lgdf{0fJoj;foL

s ju{ 20000.00
v ju{ 15000.00
u ju{ 10000.00
3 ju{ 5000.00

3=1=3 ljb]zLlgdf{0fJoj;foLPj+k/fdz{bftf ;d]t ePsf]nfO{ yk 5,000.00

3.1.3 ;6l/ËAoj;fo

3=1=3=1 ldSr/tyf;6l/Ë;fdfgePsf] 3,000.00

3=1=3=2 ;6l/Ë;fdfgdfqePsf] 1,500.00

ldSr/dfqePsf] 5000.00

3=1=3=3 jf6/l8«lnË 00

4 pTkfbgd'nspBf]u

4=1=1 Knfli6spBf]u

4=1=1 Knfli6spBf]u 3,000.00
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4=1=2 rKknpBf]u 3,000.00

4=2 u|LnpBf]u 3,000.00

4=3 ;fa'gpBf]u

4=3=1 ;fa"gpBf]u&'nf 5,000.00

4=3=2 ;fa"gpBf]u demf}nf 3,000.00

4=3=3 ;fa"gpBf]u ;fgf 2,000.00

4=4 h'QfpBf]u

4=4=1 h"'Qfpwf]utyfh"Qfsf]zf]?d 2,000.00

4=4=2 h'Qfsf]zf]?d 1500.00

4=4=3 h'Qfsf]zf]?dtyfk;n 1,000.00

4=4=4 h'Qf d/d{tug]{ s]Gb| 300.00

4=5 s[lifkmd{tyfkz'cfxf/pBf]u

4=5=1 kz"cfx/pBf]u 3,000.00

4=5=2 kz"cfx/las|Ls]Gb| 1,500.00

4=5=3 s[lifkmd{tyfkz"k+%LpBf]u 1,000.00

4=7 3/]n's'l6/pBf]u

4=7=1 cu/aQLpBf]u 500.00

4=7=2 d}gaQLpBf]u 500.00

4=7=3 l^sLpBf]u 200.00

4=7=4 crf/pBf]u 100.00

4=7=5 cGos''l^/pBf]u 100.00

4=8 sk8ftyfufd{]G6pBf]u

4=8=1 sk*fpBf]u 4,000.00

4=8=2 uf/d]G^pBf]u 2,500.00

4=8=3 Hofs]]^tyfAofupBf]u 2,000.00

4=8=4 xf]lhof/Ltyfwfuf]pBf]u 1,000.00

4=8=5 l;/s*;gfpBf]u÷k;n 1,000.00

4=8=6 (fsfpBf]u 1000.00

4=10 k]okbfy{pTkfbgpBf]u

4=10=1 ldg/njf^/pBf]u 5000.00

4=10=2 lkpg]kfgL;Knfo;{ 1,500.00

4=10=3 cfO;a/kmpBf]u 1,500.00

4=10=4 cfO;qmLdpBf]u 1,000.00

4=10=5 ;f]*fpBf]u 500.00

4=11 ef+8fpBf]u

4=11=1 sf++;,tfdf,lkQn,ef*fpBf]u 2,000.00

4=11=2 cfNd"lgodef*fpBf]u 1500.00



15

4=11=3 Knf:^Lsef*fpBf]u 1000.00

4=11=4 l^gsf]af;s,afN^L,:^f]e 1,000.00

4=12 s'6fgL,k]nfgLldn

4=12=1 kmnfj/ldn 5,000.00

4=12=2 ;]n/ldn 1500.00

4=12=3 s'^fgL,k]nfgLldn-xn/;d]t_ 1,000.00

4=12=4 d;nf,lrp/fldn 1,000.00

4.13 *]/LpBf]u

4=13=1 *]/LpBf]utyflaqmLk;n 2000.00

4=13=2 *]/LlaqmLk;n 500.00

4.14 pkef]Uoa:t"pTkfbgpBf]u

4=14=1 s"lsh÷kfp/f]^L÷g"*N;pBf]u 2,000.00

4=14=2 sGkm]S;g/LpBf]u 1,000.00

4=14=3 lj:s'^pBf]u 1,000.00

4=14=4 bfndf]&pBf]u 1,000.00

4.15 l/sl)*;gpBf]u

4=15=1 kmnfds[lifcf}hf/pBf]u 1,000.00

4=15=2 sfuh,Knfli^sl/sl)*;gpBf]u 1,000.00

5 phf{d'nspBf]u

5=1 xfO*«f]kfj/;DaGwLkf^{pTkfbg 5,000.00

5=2 jfof]Uof;pBf]u 4,000.00

5=3 ;f}o{zlQmpTkfbgpwf]u 3,000.00

5=4 dd{t;+df/kf^{las|L phf{ 2,000.00

6 s[liftyfaghGopBf]u

6=1 ;ldn÷KnfOp*pBf]u 5,000.00

6=2 sf&ljqmLl*kf] 4,000.00

6=3 kmfO{j//sf&sf]kmlg{r/pBf]u 2500.00

6=4 kmfO{j//sf&sf]kmlg{r/zf]?d, 2,000.00

6=5 a]taf+;sf]pBF]u÷JofDaf]zf]?d 1,500.00

7 vlghpBf]u 5000.00

7=1=1 O{^f pBf]u lrDgL 5000.00

7 O{^ pBf]u ;fdfGo 1000.00

7 l;d]G^ pBf]u 75,000.00

7 lu^\^L tyf afn'jf jfl;*=NkfG^ 2000.00

7=1 s+lqm^pBf]u

7=1=1 s+lqm^Jns 3000.00

7=1=3 ;]g]^/LpBf]utyfJoj;fo 2000.00

7=1=4 lu§Ljfn'jfcfbL;+sngtyflas|L s]Gb| s]Gb| 3,000.00
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7=1=4 qm;/pBf]u 50,000.00

8 ko{6gpBf]u

8.1 xf]^nnhP)*/]i^"/])^

8=1=1 kf^L{Kofn]; 6,000.00

8=1=2 xf]^nnhP)*/]i^"/])^ 4,000.00

8=1=3 xf]^nP)*nh 3,000.00

8=1=4 xf]^n÷ef]hgfno 2,000.00

/]i^"/])^ 1500.00

8=1=5 nh 2,000.00

8=1=7 bf]xf]/L;f+em 6000.00

8=1=8 kmf:^km'^tyfSofkm] 1500.00

8=1=9 /]i^"/])^ 1500.00

8=1=10 xf]^n,ef]hgfno 1,500.00

8=1=11 Sof^l/é / ^]G^ 00

8=2 ldi&fg÷Sof^l/ék;n

8=2=1 ldi&fg÷e)*f/ 1,500.00

8=2=3 lroftyfslkmk;n 5,00.00

8.3 6]06xfp;

8=3=1 ^])*xfp; 2,000.00

Sof^l/é 2000.00

9 ;]jfpBf]u

9.1 5fkfvfgf

9=1=1 ckm;]^k|]; 2,000.00

9=1=2 l:s|glk|G^k|]z 1,000.00

9=1=3 n]^/lk|G^k|]z 1,000.00

9.2 l;g]dfxn

9=2=1 l;g]dfxn 10,000.00

9=2=2 lkmNdl*l:^«Jo'^;{ 5000.00

9.3 sn/Nofj;]jf

9=3=1 sn/Nofj;]jf 2000.00

9=3=2 lel*of]ldlS;é 2,000.00

9=3=3 kmf]^f]:^"l*of];]jf 500.00

11 ;+rf/;]jf

11=1 ^]lnkmf]g,df]jfO{n,OG^/g]^;]jfk|bfossDkgL 10,000.00

11=2 O{G^/g]^ ljt/s 3,000.00

11=3 l^=le=Rofgnk|zf/)f;]jf 5,000.00

11=3 s]a"nRofgnk|zf/)f;]jf 5000.00

11=4 Pkm=Pd=k|zf/)f;]jf 1,000.00
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11=5 kqklqsfk|sfzg;]jf 500.00

11.2 sDo'lgs]zg;]jf

11=2=1 ^"/PG*^feN; ;]jf 1,500.00

11=2=2 kmf]^f]slk÷kL=;L=cf]=;fOj/Sofkm];]jf 1,500.00

11=2=3 s'l/o/;]jfsf]d'Vosfof{no 1,500.00

11=2=4 s'l/o/;]jfsf]zfvfsfof{no 1,000.00

12 laQLo;]jf

12=1 afl)fHoa}+sd'Vosfof{no 50,000.00

12=2 jfl)fHoj}+sk|ltzfvfsfof{no 25,000.00

12=3 lasf;a}+sd'Vosfof{no 30,000.00

12=4 ljsf;j}+sk|ltzfvfsfof{no 20,000.00

12=5 kmfOgfG;sDkgLd'Vosfof{no 25,000.00

12=6 kmfOgfG;sDkgLk|ltzfvfsfof{no 15000.00

n#'ljQsDkgL d'Vo 20,000.00

12=7 n#'ljQsDkgL zfvf 10,000.00

12=8 ljdfsDkgLx? 5,000.00

12=9 /]ld^fG;tyfdgLPS;r]Gh/ 1500.00

12=10 ljQLo;xsf/L;+:yf 2,000.00

12=11 ax'på]Zo ;xsf/L ;+:yf 2000.00

13 :jf:Yo;]jf

13.1 :jf:Yo;]jfJoj;fo

13=1=1 u}x|;/sf/Lc:ktfn gl;{é xf]d 5,000.00

13=1=2 gl;{éxf]d 00

13=1=3 Pd=cf/=cfO=,l;=l^=:Sofg,cN^«f;fp)*lSnlgs 3,000.00

13=1=4 kf]]nLlSnlgs 3,000.00

13=1=5 Kofyf]nf]hL-lb;f,lk;fj,/ut,hf+r_lSnlgs 2,000.00

13=1=6 cSo'kGr/,lkmlhof]y]/fkL,:jf:ylSnlgs 1,500.00

13=1=7 PS;/]lSnlgs 1,000.00

13=1=8 rZdfk;n 1000.00

14 lzIff;]jf

14.1 lghLlzIffno

14=1=1 dfWolds ljBfno 5000.00

14=1=2 cfwf/e't ljBfno 4000.00

14=1=4 k|fyldsljBfno 1,000.00

14=1=5 %fq÷%fqfjf; 1,000.00

14=1=6 dG^]Zj/Ltyflzz":ofx/s]Gb| 100.00

14.2 OlG:^Ro"^,tfnLdtyfcg";Gwfgs]Gb|

14=2=1 kf]nL^]lSgsnOlG:^Ro'^,k|lzIf)f;d]t 5,000.00

14=2=2 gl;{é,l;P=dP=P=/Pr=P=k|lzIf)f;d]t 5,000.00
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14=2=3 Ph's]zgnsG;N^]G;L;]jf 2,000.00

14=2=4 sDKo"^/÷O{n]S^«f]=tfnLds]Gb| 1,000.00

14=2=5 sDKo"^/l*hfO{lgé;]jf 1,000.00

14=2=6 ;jf/LrfnstfnLds]Gb| 2,000.00

14=2=7 efifflzIffOlG:^Ro'^,sf]lré;]G^/ 1,000.00

14=3 cGt/fli^«ou}/;/sf/L;+:yfx?

14=3=1 cGt/fli^«o;+:yf-Aoj;flossf/f]af/ug]{_ 8,000.00

14=3=2 /fli^«o;+:yf 3,000.00

:yfgLo ;+:yf 1000.00

15 dd{ttyf;+ef/;]jf

15=1 af]*LljN*;{;]S;gtkm{

15=2 n]y;]S;gtkm{

15=2=1 n]y;]S;g 2500.00

15=2=2 n]y;]S;g

15=3 ^fo/;]S;gtkm{

15=3=1 ^fo/l*n/zf]?d, l/;f]lné 1500.00

15=3=2 ^fo/l/;f]lné

15=3=3 ^fo/l/;f]lné

15=3=4 ^fo/kGr/dd{t 500.00

15=4 O{lGhgdd{t;]S;g tkm{

15=4=1 O{lGhgdd{t 1,500.00

15=4=2 O{lGhgdd{t

15=4=3 O{lGhgdd{t

15=5 k]lG6Ë÷8]lG6Ë÷j]lN8Ë+u;]S;gtkm{

15=5=1 *]lG^é÷k]lG^é÷j]lN*é;]jf

15=5=2 *]lG^é÷j]lN*é ;]jf

15=5=3 k]lG^é 1000.00

15=6 kDk;]S;gdd{ttkm{

15=6=1 kDk;]S;gdd{t 1500.00

15=6=2 kDk;]S;gdd{t

15.7 Jof6«L÷On]lS6«s;]S;gtkm {

15=7=1 Jof^«L÷On]lS^«s;]S;g 1,000.00

15=7=2 Jof^«L÷On]lS^«s;]S;g

15=8 jfl;é;]S;gtkm{>])fLs 500.00

15=8=1 jfl;é;]S;g>])fLs

15=9 l/S;f,;fOlsn

15=9=1 l/S;f;fOlsnljqmLk;n 1,000.00

15=9=2 l/S;f,;fOlsndd{ttyfkf^{;laqmLk;n



19

15.10 c6f];DaGwLcGo;]jf

15=10=1 sdfgLk§fdd{t 500.00

15=10=2 /]l*o^/dd{t 500.00

15=10=3 l;^d]ls+utyflu|l;+u;]jf 500.00

15=10=4 x]*dd{t;]S;g 500.00

15.11 cGodd{t;]jf

15=11=1 l^=eL=,*]s,lk|mh,sDKo'^/,dd{tk;n 1,000.00

15=11=2 df]jf{Ondd{tk;n 500.00

15=11=3 /]l*of],#*Ldd{tk;n

15=11=4 cGodd{tk;n 500.00

16=4 ;]So'l/6Ll/on sDkgL ;]jf 1,000.00

16.6 *«fOlSnlgs,;}n'gtyfAo'^Lkfn{/

16=6=1 Ao'^Lkfn{/;]jfAo'l^lzogtfnLd;lxtsf] 1,500.00

16=6=2 Ao'^Lkfn{/;]jf 1,000.00

Ao'^Ll;og tflnd ;]jf 1000.00

16=6=3 sflnu(;lxtsf];}n"g;]jf 500.00

16=6=4 ;}n"g

16=6=5 *«fOlSnlgs;]jf 300.00

16.7 ;fO{gjf]8{cf6{Joj;fo

16=7=1 l*lh^ncf^{Aoj;fo 1,500.00

16=7=2 cGocf^{Aoj;fo 750.00

16=8 kz"awznf

16=8=1 kz"awznf 3,000.00

16=8=2 kz"sf]%fnf;+sngtyflaqmLs]Gb| 2,000.00

16=9 df%f,df;'c)*fljqmLk;n

16=9=1 3 lsl;dsf] eGbf a(L df;' ljqmL 2,000.00

16=9=2 slDtdf3lsl;dsf] df;' Aoj;fo ,1500.00

16=9=3 slDtdf 2lsl;dsf] df;' Aoj;fo 1,000.00

16=9=4 s"g}Psk|sf/sf]df%f,df;"las|Lk;n 500.00

16=9=5 c)*fljqmLk;n 500.00

16=10 km"nla?jfljqmLk;n

16=10=1 g;{/L 1,000.00

16=10=2 km"nljqmLk;n 500.00

16=11 :g's/÷k'nxfp;

16=11=1 :g"s/tyfk"nb"j}ePsf] 1500.00

16=11=2 :g"s/, 1000.00

k'n xfp; 1000.00

16=11=3 hLdxfp; 1,000.00
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16=11=2 x]leOSo'jd]G^tyfsjf*{k;n

16=12=1 x]leOSo'jd]G^vl/b÷laqmL 6,000.00

16=12=2 cGo OSo'jd]G^vl/b÷laqmL 3,000.00

16=12=3 cGosjf*{vl/bljs|L 2,000.00

16=13 ef+*fk;n,lsrg;fdfu|L

16=13=1 ef+*ftyflsrg;fdfu|Lyf]sk;n 2,000.00

16=13=2 ef+*ftyflsrg;fdfu|L v'b|fk;n 1,000.00

16=13=3 ;fwf/)fef+*fv"b|fk;n 00

16.14 :kf]^;{,v]nf}gf,lukm\^tyfkmf]^f]k|m|]dk;n

16=14=1 :kf]^;{;dfu|L,las|Lk;n 1,000.00

16=14=2 lukm\^las|Lk;n 1,000.00

16=14=3 v]nf}gfk;n 500.00

16=14=4 kmf]^f]km|]dk;n 500.00

16=15 l;nfO{d]l;gdd{ttyfl;nfO{k;n

16=15=1 l;nfO{k;n;l^{ Ë ;'l^Ë 1,000.00

16=15=3 l;nfO{k;n 500.00

16=15=4 a'l^sNofa|]f^f]/L 500.00

17 cGo;]jf

17=1 j}b]lzs/f]huf/;]jfk/fdz{bftf -d]g kfj/_

17=1=1 j}b]lzs/f]huf/;]jfk/fdz{bftf 5,000.00

17=1=2 j}b]lzs/f]huf/ k/fdz{;]jfzfvfsfof{no 4,000.00

17=1=5 ;fdfg;lxt>lds;]jfk/fdz{bftf 2,500.00

17=2 ;+luttyfsnfs]Gb|;]jf

17=2=1 ;+lut;dfu|Llas|Lk;n 1,000.00

17=2=2 ;+luttyfsnfs]Gb| 1,000.00

17=3 #'lDtxf^jhf/dfAofj;foug]{Joj;flosf]xsdf

17=3=1 km]G;Ltyfsk*fk;n 5,00.00

17=3=2 ls/fgfla;ftfPj+ef*fk;n 500.00

00.0017=3=3 cGok|s[tLsf 400.00

17=4 dfyLpNn]vgePsfpBf]ux?sf]xsdf

17=4=1 &'nfpBf]u 10,000.00

17=4=2 d´f}nfpBf]u 6,000.00

17=4=3 ;fgfpBf]u 3,000.00

17=5 dfyLpNn]vgePsfcGok]zfJoj;fo

17=5=1 l*:^«Lao"^;{÷yf]sk;n 3,000.00

17=5=2 v"b|f;fdfu|Llas|Lk;n>])fLs 2,000.00

17=5=4 ;]jftyfcGoJoj;fo 1,000.00
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l;=

g+=

ef}lts ;+/rgfsf] ljj/)f s/sf] b/ -k|lt j=kmL=_ g]=?=df

gS;fkf; If]q

s v u

1= cf/= ;L= ;L= k|m]d :^|\Sr/      

s_ k")f{ e'ldut tnf 2=00 1=00 0=50

v_ cw{ e'ldut tnf 3=00 2=00 1=00

u_ hldg tnf 3=00 2=00 1=00

#_ klxnf] tnf 3=00 2=00 1=00

ª_ bf]>f] tnf 4=00 3=00 2=00

r_ t]>f] tnf 4=00 3=00 2=00

%_ rf}yf] tnf 5=00 4=00 3=00

h_ kfrf} tNnf jf ;f] eGbf dfly 10=00 8=00 6=00

2 l;d]G^sf] hf]*fO{df O^f jf (+'ufsf] uf/f]

-Go'gtd 23 ;]=dL= df]^fO{_ ^fon %fgf

2=00 1=00 0=50

3= l;d]G^sf] hf]*fO{df O^f jf ('+ufsf] uf/f]

-Go'gtd 23 ;]=dL= df]^fO{_, h:tfkftf%fgf

2=00 1=00 0=50

l;d]G^sf] hf]*fO{df O^f jf ('+ufsf] uf/f]

km';sf] %fgf

2=00 1=00 0=50

4= df^f]]sf] hf]*fO{df O^f jf ('+ufsf] uf/f]

^fonsf] %fgf

1=75 1=00 0=30

5 df^f]]sf] hf]*fO{df O^f jf ('+ufsf] uf/f]

km';sf] %fgf

1=00 0=50 0=25

6 df^f]]sf] hf]*fO{df O^f jf ('+ufsf] uf/f]

km';sf] %fgf

00 00 00

17= #/ gSzfkf; b:t'/

c_ #/gS;f kf; ;DaGwL b:t'/

k'/fgf #/ lgoldt ug{ pNn]lvt b/n] x'g cfpg] s'n /sdsf] 20 k|ltzt %'^ x'g] % .
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1_dfnkf]t tkm{ M

cjn bf]od l;d rfxf/

sM 0 b]lv 1 la#f ;Dd -k|lt s¶f_ ?= 4.00 3.00 2.00 2.00

vM 1 la#f b]lv 3 la#f ;DDf k|lt s¶f ?= 5.00 4.00 3.00 3.00

uM 3 la#f eGbf dfly hlt ;'s} EfP klg ?= 6.00 5.00 4.00 4.00

2_ ef}lts k'af{wf/ ;]jf z'Ns tkm{ M – cGo cAojl:YFTF a;f]af;Lsf] xsdf .

s v u

5 s¶f ;Dd 100.00 75.00 50.00

5 b]lv 10 s¶f ;Dd 125.00 100.00 75.00

10 b]lv dfly 150.00 125.00 100.00

s v u

3_ #/w'/L s/

kSsL 100.00 75.00 50.00

sRRFL 50.00 30.00 20.00

km';sf] #/ 25.00 15.00 10.00


